FR_IE(E

X & 0 I1E B Al AR

B | No. i3] = FH%8 THEE | FE%EEE
A METEE| KRE |LWMLEE BHE BIEE ANGEE |[RREAEl EHKE
4l 12 2 %7F & (300,000 x 1 A) 300,000 300,000
5/16~5/20 FR28EEMEI N i miz 2B BTAZE
20 1= BFBEARELRI—XR| SNEEE 16,250 283,750 16,250
5/16~5/20 TR 28EEMEI M immiz 2 S BTAZE
20 2|Df=HDMBFBARAERI—XR| SNiKRE 3,040 280,710 3,040
9] 12| S|BEERELIUNTEFSV VAR HIEHDEE 505| 280,205 505
10/19~10/20 F11AEEMEEEZr=NEL I+—I L
27| A|ZmMEHESRUEESNEES 18,000| 262,205 18,000
10/19~10/20 El 1 REZEM e ratE JA— L
27| 5|BmikE 44550 217,655 44,550
10[ 21| 6|EFESHERAHEU~IAR) 1,286] 216,369 1,286
B S 300,000 83,631 34250| 47,590 505 1,286 0




